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'Assume a stack-S contains a set of positive integers. A number ‘X’ is said to
be a duplicate number if it is present more than one time in the stack. Write
an algorithm to remove all duplicate numbers in the stack S and also
'1llustrate your algorithm for any sample input. Compute running time of
Jyour algorithm. '
l\Let S be a stack of non-negative integers of size n, write an algorithm with
|linear time to move all the zeros in the stack S to bottom of the stack and
,move positive integers to the top by maintaining their order. Your algorithm
,shou]d use stack data structure only, you can’t use any other data structures
illke arrays, list, queue, etc.
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Let L be a singly linked list having n nodes and let k, with 1<k<n/2, be a
positive integer. Write an algorithm to arrange the elements that are
Ioccurring at every position divisible by k in a non-decreasing order, using
only the link field of the node and not using the data values.
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Example 1: If L:1->9->4->6->3->5->8 and k=2 then the re- arranged list-
(positions are 2, 4 and 6, the respective elements in L are 9L 5) lS
L':1->5->4->6->3->9->8
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Example 2: If L:1->2->6->4->9->3->7->8->5->10 and k=3 then the res u
‘ arranged list is L':1->2->3->4->9->5->7->8->6->10
: .iTlEZ‘iTcI? éaﬁziNiﬁédpié,—nufribé—réa I to N, are sitting around a circle. 10—

‘Starting at person 1, a hot potato is passed. After M (I<=M<=N) passes,
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the person holding the hot potato is eliminated. With this elimination the
\ﬁr.s’t round gets over. Then the second round of the game continues with the
person who was sitting after the climinated person (in the first round)
picking up the hot potato make M passes. The game continues like this, for
many rounds and the last remaining person wins. For example, if M=1 and
N=35, the order of elimination is 2,4,1,5. Given values of M and N, write an
algorithm using linked list data structure to identify the winner of ~ Circle

Game. Compute the running time of your algorithm.

Level Order traversal is defined as follows: It is a kind of binary tree

traversal where elements in the binary tree are traversed by levels, top to

|
bottom and within levels, left to right . Write an algorithm to compute the

Level Order traversal of a binary tree . For example, Level order traversal

{of the following binary tree is: 8(Root node), 4,7, 5,3 9.
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